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Ratio between speed of boat in still water to speed of stream is 5 : 2. If 224 km is travelled by 
downstream in 4 hours then find the difference between speed of boat in still water and speed 
of stream?
श ांत जल में न व की गतत क ध र की गतत से अनुप त 5:2 है। यति ध र के अनुकूल 224 
तकमी की य त्र 4 घांटे में की ज ती है, तो श ांत जल में न व की गतत और ध र की गतत के बीच
अांतर ज्ञ त कीतजए?

1)24 km/hr
2)22 km/hr
3)28 km/hr
4)26 km/hr



The ratio of the speeds of the train and the man is 6 : 1. The length of the train is 650m and 
crosses a pole in 1 minute 5 seconds. In how much time will the man cross the 240m long 
platform?
टर ेन और आिमी की गतत क अनुप त 6:1 है। टर ेन की लांब ई 650 मीटर है और 1 तमनट 5 
सेकां ड में एक पोल को प र करती है। वह आिमी 240 मीटर लांबे पे्लटफॉमम को तकतने समय में
प र करेग ?

1) 1 minute 24 
seconds

2) 2 minutes 30 
seconds

3) 2 minutes
4) 2 minutes 24 

seconds



In the figure given below, ABC is a triangle. BC is parallel to AE. If BC = AC, then what 
is the value of ∠CAE?

1)20°
2)30°
3)40°
4)50°



Two medians PS and RT of ΔPQR intersect at G at right angles. If PS = 9 cm and RT = 6 
cm, then the length of RS in cm is ?
ΔPQR की िो म ध्यिक एँ PS और RT, G पर समकोण पर प्रततचे्छि करती हैं। यति PS = 
9 सेमी और RT = 6 सेमी, तो सेमी में RS की लांब ई है?

1)10
2)6
3)5
4)3



25% of 680 + 16% of 525 – 22% of 450 = ?

1)217
2)155
3)233
4)189



In the given figure below, ∠AOB = 48° and AC and OB intersect each other at right 
angles. What is the measure of ∠OBC? (O is the centre of the circle)
नीचे िी गई आकृतत में, AOB = 48° और AC और OB एक िूसरे को समकोण पर क टते
हैं। OBC क म प क्य है? (O वृत्त क कें द्र है)

1)44°
2)66°
3)67°
4)78.5°



The average salary of male employees in a firm was Rs. 6000 and that of females was Rs. 5600. 
The mean salary of all the employees was Rs. 5800. What is the % of female employees?
एक फमम में पुरुष कममच ररयो ां क औसत वेतन 6000 रुपये और मतहल ओां क 5600 रुपये थ ।
सभी कममच ररयो ां क औसत वेतन रुपये थ । 5800. मतहल कममच ररयो ां क प्रततशत क्य है?

1)60%
2)50%
3)70%
4)20%



If one tap can fill a tank in 20min and another tap can empty it in 50min. If they  work in 
alternate minutes then in how many minutes the tank will fill ?
यति एक नल तकसी टांकी को 20 तमनट में भर सकत है और िूसर नल उसे 50 तमनट में ख ली
कर सकत है। यति वे एक ांतर तमनट में क यम करते हैं तो टांकी तकतने तमनट में भर ज एगी?

1)67
2)50
3)64
4)NOT



Amit, Anil and Ajit ride from home to their common office with speeds in the ratio 5 : 4 : 3. If in 
total they take 94 minutes (sum of the individual time taken) to cover the individual 
distance(which is same for all), then find the time taken by 'Anil' to cover his distance ?
अतमत, अतनल और अजीत 5 : 4 : 3 के अनुप त में गतत के स थ घर से अपने स म न्य क य मलय
तक ज ते हैं। यति कुल तमल कर वे व्यध्यिगत िूरी (जो सभी के तलए सम न है) को तय करने में
94 तमनट (व्यध्यिगत समय क योग) लेते हैं। है, तो 'अतनल' द्व र अपनी िूरी तय करने में तलय 
गय समय ज्ञ त कीतजए।

1)30 min.
2)48 min.
3)24 min.
4)40 min.



If 12 men or 18 women can reap a field in 14 days, then working at the same rate, 8 men and 16 
women can reap the same field in ?
यति 12 पुरुष य 18 मतहल एां 14 तिनो ां में एक खेत की कट ई कर सकते हैं, तो सम न िर से
क म करते हुए, 8 पुरुष और 16 मतहल एां उसी खेत को तकतने तिनो ां में क ट सकते हैं?

1)9 days
2)5 days
3)7 days
4)8 days



In 2016 the ratio of salaries of Muskan and Babli was 2 : 3. The ratios of the salary of 2016 to 
that of the 2017, in the case of Muskan and Babli respectively, are 3 : 4 and 5 : 7. If this year i.e. 
2017 the difference in their salaries is 2300, what is Babli’s salary this year?
2016 में मुस्क न और बबली के वेतन क अनुप त 2:3 थ । मुस्क न और बबली के म मले में
2016 के वेतन क 2017 के वेतन से अनुप त क्रमश: 3:4 और 5:7 है। यति इस वषम अथ मत्।
2017 उनके वेतन में अांतर 2300 है, इस वषम बबली क वेतन तकतन है?

1)Rs. 5950
2)Rs. 6300
3)Rs. 3000
4)Rs. 2875



A boat goes 12 km upstream and 18 km downstream in 3 hour. In 6 1/2hour, it can go 36 km 
upstream and 24 km downstream. The speed of the boat in still water is.
एक न व ध र के प्रततकूल 12 तकमी और ध र के अनुकूल 18 तकमी 3 घांटे में ज ती है। 6 1/2 
घांटे में, यह 36 तकमी अपस्ट्रीम और 24 तकमी ड उनस्ट्रीम ज सकत है। श ांत जल में न व की
गतत है।

1)8
2)10
3)12
4)NOT



A certain sum of money lent out at simple interest amount Rs.1380 in 3 years and Rs. 
1500 in 5 years. Find the rate percent per annum ?
स ध रण ब्य ज पर उध र िी गई एक तनतित र तश 3 वषम में रु.1380 और रु. 5 स ल
में 1500 व तषमक िर प्रततशत ज्ञ त कीतजये?

1)3%
2)3.5%
3)4%
4)5%


